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Part 1: Building a Foundation

What does a point inside the Production Possibilities Curve (PPC) represent?

Hint: Think about resource utilization.

O A) Efficient use of resources

O B) Inefficient use of resources v
(O C) Unattainable production level
(O D) Maximum production capacity

| Apointinside the PPC indicates inefficient use of resources.

Which of the following factors can cause the PPC to shift outward? (Select all that apply)

Hint: Consider factors that enhance production capabilities.

(J A) Technological advancements v/
(1) B) Decrease in available resources
(J C) Increase in labor force v’

(1) D) Natural disasters

| Technological advancements and an increase in the labor force can shift the PPC outward.

Explain the concept of opportunity cost as it relates to the PPC.

Hint: Consider what is sacrificed when choosing one option over another.
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/

Opportunity cost refers to the value of the next best alternative that is forgone when making a
choice.

List two characteristics of the PPC.
Hint: Think about the shape and implications of the curve.

1. Characteristic 1

| 1t shows the maximum possible production combinations.

2. Characteristic 2

| Itillustrates trade-offs between two goods.

| The PPC is typically bowed outward and illustrates trade-offs between two goods.

What does the slope of the PPC represent?

Hint: Consider what changing production levels imply.

(O A) Total production capacity
O B) Opportunity cost v’

(O C) Resource availability

(O D) Economic growth

| The slope of the PPC represents the opportunity cost of producing one good over another.
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Part 2: Comprehension and Application

If a country is operating on its PPC, what does this indicate about its resource use?

Hint: Think about efficiency in production.

(O A) Resources are underutilized

O B) Resources are fully utilized v’
(O C) Resources are wasted

(O D) Resources are unavailable

| Operating on the PPC indicates that resources are fully utilized.

Which of the following scenarios could lead to a point moving from inside the PPC to on the PPC?
(Select all that apply)

Hint: Consider improvements in production efficiency.

(J A) Improved efficiency in production v’
(1) B) Reduction in workforce

(J C) Better allocation of resources v/

(1] D) Technological regression

| Improved efficiency in production and better allocation of resources can move a point to the PPC.

Consider a country that produces only cars and computers. If the country decides to produce more
cars, what happens to the production of computers? Explain using the concept of opportunity cost.

Hint: Think about the trade-offs involved in production decisions.

| Producing more cars will decrease the production of computers due to opportunity cost.

A country decides to invest heavily in education, leading to a more skilled workforce. How is this
likely to affect the PPC?
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Hint: Consider the long-term effects of education on production capabilities.

(O A) Shift inward

O B) Shift outward v’
(O C) Remain unchanged
O D) Become linear

| Investments in education are likely to shift the PPC outward due to increased productivity.

Part 3: Analysis, Evaluation, and Creation

What does a straight-line PPC indicate about opportunity costs?

Hint: Think about how opportunity costs behave in this scenario.

O A) Increasing opportunity costs

O B) Constant opportunity costs v’
(O C) Decreasing opportunity costs
(O D) No opportunity costs

| Astraight-line PPC indicates constant opportunity costs.

Which of the following statements about points on the PPC are true? (Select all that apply)

Hint: Consider the implications of being on the PPC.

(J A) They represent efficient production levels v’
(] B) They indicate potential economic growth

(] C) They show unattainable production levels

(J) D) They reflect trade-offs between goods v’

| Points on the PPC represent efficient production levels and reflect trade-offs between goods.

If a country is producing at a point beyond its current PPC, what might this indicate? Discuss the
implications and potential sustainability of this situation.

Hint: Think about the feasibility of producing beyond the current capabilities.
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Producing beyond the PPC may indicate overutilization of resources, which is often
unsustainable.

Which strategies could a country employ to shift its PPC outward? (Select all that apply)

Hint: Consider actions that enhance production capabilities.

(J A) Investing in technology v’
(] B) Reducing labor force

(J C) Improving education v’

(J D) Increasing capital goods v’

| Investments in technology, education, and capital goods can shift the PPC outward.

Propose a policy that could help a developing country shift its PPC outward. Explain the rationale
behind your proposal.

Hint: Think about policies that enhance production capabilities.

/

Policies that focus on education and infrastructure can help shift the PPC outward by improving
productivity.

Suggest two real-world examples where a country might need to make trade-offs between two
goods.

Hint: Consider scenarios involving limited resources.

1. Example 1
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| Military goods vs. consumer goods.

2. Example 2

| Healthcare vs. education.

Countries often face trade-offs between military and consumer goods or between healthcare and
education.
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